Full Name

Problem

Answer

Elementary Answer Key

600167 square centimeters

Problem Answer
1 1286 (must be in seconds)
2 4
3 3/7
4 23
5 51 (must be in dollars)
6 1700 (must be in grams)
7 90 (must be in pounds)
8 29
9 29
10 Any # not divisible by 2, 3, or 5

with at least 2 prime factors

11

12:7

12 (any unit, cm”2 if not specified)
13 15

27 (must be in miles per hour)
14

north
97200 (must be in square
15 :
inches)
16 120
17 25
18 90 / 23 minutes (any unit, must
specify unit)
19 9
20 Change 7 to 3 and change 3 to
5
21 Annabelle is truthy, Bossy is
falsy, Cornelius is truthy

22 34
23 89

$878.40 (any unit, assume §$ if
24 o

not specified)

25 9




